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( 1‘5 .l‘;,,") £ Given a three-sector Income detenmination maodel in which
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determine the magnliude and direction of a change in  {a) government spending,
(B} lemp-sum taxation, and {¢) the fax rale on the coguitibrivm fevel of iocome o
short, calculute the goverment_multiplier, the awionomeis fax moltiplier, and (the fax-rode

mulriplicr. ,,?-'FE‘;‘?,.-@

(185 & [0)The rate of net investment is [ = 40" and capital stock at (=0 is 73. Find the
capitsl Tunetion K(t),

'bJWil,h = f{Y), ihe marginal propensily Lo consune is given by MPPC » dCIdY = [(Y).
"W ohe MPC =08 amd 1;;|;|.||.5||n'||p||'|}|1 i5 4 when ipncome is 2era, find vhe 'l“.'-l!ﬂ!i!lllliﬂ“ﬂll

funclicen.

[{',"}II' world population grows st 2.6 pereent, how long will it take o double?
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